QUESTION PAPER AND KEY
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Code 34(AMB)

(English Version)

Q1. ‘sgEY mEEErgTavdld:

{A) ugTdt (B) uzeY (C) yaTEt (D) g37ET
Q2. ‘wfowrum uzg fagr &, =a feo st= faosr o

(A) ugT B)J (C) foar (D) mfoimue
Q3. ‘How wue & & fao=t famr 3 :

(A) Fre-2gq &' F (B) fead s-=rva &7

(C)SHg-T 94 &< (D) Afen—T9a ST
Q4. ‘TaT mue v fewad féar o

(A) 9adt (B) 9<t (C) S&I&T (D) funmdt
Q5. WF WET TTHT-¥TS A1 9 ¢

(A) ¥famt (B)HF (Ok:riy (D) ¥zt
Q6. oo f&d fami € T8 :

(A) U=t (B) W& Ok ¥ (D) &=
Q7. uTy-T=d uyFate Ihudt famdt et 05t

(A fas (B) 98 Cylmr D) &
Q8. »uar € myv g fagr wier &

(A) §8Y (B)FH (C) fadt (D) HrZgr
Q9. €vat faF 9 wint €% 903 fsawe 9=

(A) BT (B) ST (C) gaAz~ (D) ganar
Q.10. Wt st ¢

(A) 3T (B) Gu-gmam (C) faut (D) TTSHBT
Q.11. Uwret g & AeHeTSt 3t

(A) urat (B) "oHt {C) ¥dHST (D) sfa=z
Q.12. ¥ HET FOX J:

(A)urstEiugst (B) UR seEmt (C) sy Tfgm (D) A efgnr
Q.13. FETdSr e maE J :

(A) 93Tt g7 (B) SEanT d=T (C) 4t IS (D) anit 3=

Directions (Qs. 14- 18):- In these questions, out of the four, choose the one which expresses the
right meaning of the given word/ expression:-

Q.14. Epicurean

(A) One who is gloomy (B} One who is quiet

(C) One who is given to pleasures of life (D) One who is always happy
Q.15. One having strange habits

(A) Deteriorate (B) Degenerate (C) Eccentric (D) Casual
Q.16. When day and nights are equal in length

(A) Solstice (B) Eclipse (C) Perigee (D)Equinox
Q.17. Having a double meaning:-

(A) Suspect (B) Silly (C) Equivocal (D) Pun
Q.18. A place for keeping dogs:

(A) Pen (B} Den (C) Lair (D) Kennel
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Directions (Qs.19-22):- In these questions, sentences are given with blanks to be filled in with
appropriate and suitable word(s). Four alternatives are given. Choose the correct alternative
out of four and select your answer.

Q.19.

Q20.

Q21.

Q22.

Ramesh is satisfied _____ his perfermance.

(A) at (B) without (C) for (D) with

Most of the people like to work for organizations that take interest in their personal and
. growth.

(A) Social (B) Physical (C) Financial (D) Professional
Shiva, along with the members of the family of his friend, ___a movie.

(A) was watching (B) were watching (C) have been watching (D) watch

Chintu met _____ an accident in Delhi.

(A) by (B) with (C) off (D) under

Directions (Qs 23-25) :- In these questions, four alternatives are given for the underlined idiom/

Q. 23.

Q.24.

Q.25.

Q.26.

Q.27.

Q.28.

Q.29.

Q.30.

Q.31.

Q.32.

0.33.

Q.34.

Q.35.

Q.36.

phrase . Choose the alternative which best expresses the meaning of the underlined
idionm/ phrase.

The story of the plane crash, as narrated by one of the survivors, made my flesh creep.
(A) Thrilled me (B) Cauticned me (C) Excited me (D) Frightened me
She has resigned her job and burnt her boats so far as government service is concerned.
(A) Felt dejected (B) Blasted his hopes

{C) Ruined himself (D) Left no means of retreat

Hari cannot hold a_candle to his elder brother:-

(A) Is not as good as (B) Not as clever as

(C) Cannot be compared to (D) Duller than

The unknown value in the equation v? X 7 x18-4=122is

(A)14 B7 6 (D) none of these

When the price of T. V. was reduced by 20%, the sale increased by 80%. What was the
net effect on sale value in rupees?

(A) 60% more (B) 44% less (C) 44% more (D) 40% more

If volume of a sphere is 367 then its surface area will be

(A) 18n (B) 6n (C) 12n (D) 36m

‘Which of the following is true?

(A) 0.6 is an irrational number (B} 2 is a rational number

(C) V4 is an irrational number (D) -1/6 is an irrational number

** + 7x + 12 = 0 implies:

(A)yx=-dorx=-3 Byx=6o0orx=-2 (Cyx=4dorx=3 D)yx=6o0orx=2
What is the area, in square feet, of the triangle whose sides have lengths equal to 10, 6
and 8 feet?

(A) 480 (B)48 <24 (D) 38

Mohan and Sohan can do a job in 12 days. Sohan alone can finish it in 28 days. In how
many days can Mohan alone finish the work?

(A)18 )21 C)12 (D} none of these
The number of integers from 1 to 1000, which are neither divisible be 2 nor by 5 are.

(A) 400 (B) 600 (C) 900 (D) 300

The average of three numbers is V. If one of the numbers is Z and another is Y, what is
the remaining number?

(A)V-Z-Y BYZV-3-Y (CYZ/3-V-Y (D)3V-Z-Y

What will be the remainder if (x”’ — 1) is divided by x + 1.

(A) 96 ®B)-2 <)o D)2

When was Amul, the dairy co-operative movement in India, got formalized in India?

(A) 1936 (B) 1946 (C) 1956 (D) 1966
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Q37.

Q.38.

Q.39.

Q.40.

Q.41.

Q. 42.

Q.43.

Q.44.

Q.45.

Q.46.

Q.47.

Q.48.

Q.49.

Q.50.

Q.51.

Q.52.

Q.53.

Q.54.

The Ashok Chakra is the peace time equivalent of the:

(A) Maha Vir Chakra (B) Param Vir Chakra

(C) Param Vishisht Seva Medal (D) Vir Chakra

Which of the following National Highway (NH) does not pass through Punjab?
(A)NH 20 (B) NH 21 (C)NH 22 (D) NH 23
Which “victory-dance’ is recognisable by the swaying movements of the head?
(A) Dankara (B) Julii (C) Luddi (D) Sammi
When did "Markfed’ began it's operations?

(A) 1943 (B) 1954 (C) 1966 (D) 1974

Which of the following statements about Punjab is most near to the fact?
(A) India’s 22% wheat and 9% of rice is proeduced by Punjab

(B) India’s 32% wheat and 19% of rice is produced by Punjab

(C) India’s 22% wheat and 19% of rice is produced by Punjab

(D) India’s 32% wheat and 9% of rice is produced by Punjab

The BRIC countries are :

(A) Brazil, Russia, India and Canada (B) Brazil, Russia, India and China

(C) Britain, Russia, India and Canada (D) Britain, Russia, India and China
The “National Girl Child Day’ is observed on:

(A) January 23 (B) January 24 (C) January 25 (D) January 26

‘When was the Pre-Conception and Pre-Natal Diagnostic Techniques (Prohibition of Sex
Selection) Act (PCPNDT Act) brought into force?

(A) 1988 (B) 1994 (C) 1998 (D) 2004

Who was the chief guest at the 2011 Republic Day parade at Rajpath?

(A) President of France (B) President of Indonesian

(C) President of Russia (D) President of Saudi Arabia

‘Who was the first ever Sikh to become the chief of Singapore Army?

{A) Chanchal Singh (B) Kashmira Singh Gill

(C) Mancharan Singh Gill (D) Ravinder Singh

Which state has won maximum Gold medals ix the recently concluded National Games?
(A) Haryana {B) Jharkhand (C) Manipur (D) Punjab

Who are the key persons in the present Election Commision of India?
(A) Dr. S.Y. Quraishi, S. V.Ganpath and H.S. Brahmdev

(B) Dr. S.Y. Quraishi ,V.S.Sampath and H.S. Brahma

(C) Dr. Wajahat Habibullah, S. V.Ganpath and G.S. Brahma

(D) Dr. Wajahat Habibullah, V.S.Sampath and G.S. Brahmdev

Who is the President of International Hockey Federation?

(A} Ali bin Al Hussein (B) Haroon Lorgat

(C) Leandro Negro (D) Sepp Blatter

Who is the head of Indian Council of Caltural Relations?

(A) Dr. Karan Singh (B) Dr Manmohan Singh

(C) Dr. Wajahat Habibullah (D) Dr. 8.Y. Quraishi

‘What is Per capita income (during 2009-10) in India?

{A) Rs.50,605 (B) Rs.46,492 (C) Rs.40,603 (D) Rs.36,492
Montek Singh Ahluwalia was recently honoured with Padma Vibhushan for:

(A) Civil Services (B) Public Affairs

(C) Science and Engineering (D) Trade and Industry

Which state houses the Vikram Sarabhai Space Center?

(A) Andhra Pradesh  (B) Karnataka (C)Kerala (D) Tamil Nadu
The proposed “Jaitapur® nuclear power project is in the district:

(A) Kaira (B) Kota (C) Ratnagiri (D) Rawatbhata
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Q.55.

Q.56.

Q.57.

Q.58.
Q.59.
Q.60.

Q.61.

Q.62.

Q.63.

Q.64.

Q.65.
Q.66.
Q.67.

Q.68.

Q.69.

Q.70.

Q.71.

Q.72.

Q.73.

Which country did India replace from the Asia region in the UN Security Council?

(A) Japan (B) Pakistan {C) South Korea (D) The Philippines
Area-wise India lies between:

(A) Argentina and Kazakhstan (B) Australia and Argentina

(C) Brazil and Australia (D) Brazil and Kazakhstan

The Rod Laver Arena and Hisense Arena are associated with:

(A) Australian Open  (B) French Open (C) US Open (D) Wimbledon
Rose and Krishnapuram are the varieties of:

(A) Onion (B) Potato (C) Rice (D) Wheat

The Bir Bhadson Wildlife Sanctuary, one of the largest Protected Areas of Punjab, is in:
(A) Ferozepur (B) Gurdaspur (C) Kapurthala (D) Patiala

When did ISRO successfully launch its first lunar probe Chandrayaan-1?

(A) 2006 (B) 2007 (C) 2008 (D) 2009
Which one of the following vitamins is not “fat soluble™?

(A) Vitamin A (B) Vitamin C (C) Vitamin D (D) Vitamin E
In whose memory is “Chambilyal mela” held at Indo-Pak international Border?

(A) Dileep Singh Manhas (B) Dyal Singh Majithia

{C) Sagicha Singh Minhas (D) Sukhdev Singh Majeethia

The source of Sutlej is near:

(A) Lake Bhimtal (B) Lake Rakshastal  (C) Mithankot (D) Panjnad

Which Article of Indian Constitution imposes on every citizen to 'develop the scientific
temper, humanism and the spirit of inquiry and reform'?

(A) Article 41 A (B) Article 46 A (C) Article 51 A (D) Article 56 A
‘Who is the Registrar General and Census Commissioner of India?

(A) C. Chandramauli  (B) C.B Bhave (C)Nandan Nilekani (D) Wajahat Habibullah
Which is the National Tree of India?

(A) Ashoka tree (B) Banyan tree (C) Pipal tree (D) Sagwan tree
Who is the Governor of Reserve Bank of India?

(A) D. Subbarao (B) K. Madhava Rao  (C) Montek Singh (D) Y.V.Reddy
The BSE Sensex or Bombay Stock Exchange Sensitive Index consists of:

(A) 10 traded stocks (B) 30 traded stocks

{C) 50 traded stocks (D) 100 traded stocks

Which of the following is the first surface-to-surface missile in India?

(A) Agni (B) Nag (C) Prithvi (D) Trishul
When was Project Tiger launched in India?

(A) April 1, 1963 (B) April 1, 1973 (C) April 1, 1983 (D) April 1, 1993

Arrange the states (1- Assam, 2- Kerala, 3 -Tamil Nadu, and 4 -West Bengal) in the
descending order of their Assembly strength.

(A)4,3,2,1 (B)4,3,1,2 (©3,4,2,1 D3,4,1,2
Arrange the states: 1-Haryana, 2- Himachal Pradesh, 3- Punjab and 4- Rajasthan, in
the descending order of the area.

(A)2,4,1,3 (B)4,2,1,3 (C)4,3,2,1 (D)4,2,3,1
Match List I (Person) with List II (Country)

ListI List I

1-Darren Sammy a-Ireland

2-Elton Chigumbura b-West Indies

3-William Porterfield c-Zimbabwe
(A) 1-b, 2-¢, 3-a (B) 1-¢c, 2-b, 3-a {C} 1-b, 2-a, 3¢ (D) 1-a, 2-b, 3-c
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Q.74.

Q.75.

Q.76.

Q.77.

Q.78.

Q.79.

Q.80.

Q.81.

Q.82.

Q.83.

Q.84.

Q.85.

‘Which of the following statement(s) is(are) true?
1-Doaba lies between Ravi and Sutle;j.

2-Majha region is also celebrated as the 'Cradle of Sikhism
3-Malwa area makes up majority of the Punjab region

(A)land2 (B)2and 3 {(C)3and 1 (D) 1,2,and 3
Match List I (Factory) with List IT (Place)
List1 List Il
1-Integral Coach Factory a-Kapurthala
2.Rail Coach Factory b-Lucknow
c-Perambur
(A) 1-a, 2-b (B) 1-a, 2-¢ (C) 1-c, 2-b (D} 1-c, 2-a
How many zeros are there from 1 to 2007
(A) 20 ®)21 (©) 30 (D) 31
If BURNER is coded as CASOIS then how will ALIMENT be coded?
(A) BKILFMU (B) EKOLIMS (C) EMONIOU (D) BRISFTU
Find the missing number
3 45
g8 7 6
9 * 7
11 9 3
(A)S8 B)10 (Cy12 D) 14
‘Which number shounld replace the question mark?
17 8 5 5
13 7 5 4
6 12 6 3
10 6 4 ?
A) 4 B)5 (9] ™7
What comes next in the series 403, 296, 198, 109, ..?
(A)29 (B) 58 )4 (D) 98
What percent is 5% of 3%?
{A) 1.6% (B) 6.1% (C) 60% (D) None of the above

In an office 65 files are placed one over the other. JK’s file is 33rd from the top. If the
last file is given the first position then on this basis what is the position of JK’s file?

(A) 32™ (B) 33" (C)34™ (D) Data inadequate

If 'a’" means '+, 'b means '+, ‘¢ means - and 'd" means 'X'. then—
11b15¢8ad4d5=?

(A) 36 B)—16 (C) 26 (D) 16

Mr X is facing south. Which one of the following turns will make him face back to
South?

(A) Left, Left, Right, Right, Right, Left, Left, Left, Left, Right

(B) Left, Right, Right, Left, Left, Left, Left, Right, Right, Right

(C) Right, Left, Left, Left, Left, Right, Right, Left, Left, Right

(D) Right, Left, Left, Right, Right, Left, Right, Left, Right, Right

How many 3 digit numbers have digits in increasing order?

(A) 28 (B) 42 (C) 84 (D) 168
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Q.86.

Q.87.

Q.88.

Q.89.

Q.90.

Q.91

Q.92.

Q.93.

Q.94.

Q.95.

Q.96.

Q.97.

Q.98.

The officials Ajit, Balwainder and Charan are assigned some cases. On some day, Ajit
distributes to Balwainder and Charan as many cases as they had. After a month
Balwainder gave as many cases to Ajit and Charan as many as they have. After a month
Charan did the same thing. At the end of this transaction each one of them had 24. Find
the cases each originally had?

(A) 39,21, 12 (B)36,24,12 (C)42,16, 14 (D)y32,22,18

If 1/3 rd of a work is completed on the 1st day and 3/4th of the remaining on the second
day, then how much work is left at the end of the second day?

(A) 1/6™ ®) 1/12" (C) 1/8® (D) 1/9"

A family is having one grandfather, one grandmother, two mothers, two fathers, one
mother-in-law, one father-in-law, four children, three grandchildren, one brother, two

sisters, two sons, two daughters and one daughter-in-law. How many (minimum)
members are there in the family?

(A)S ®7 )9 )11

As many as 100 cases were examined by three examiners. While 40 were cleared by the
First examiner, 39 were cleared by the Second and 48 by the Third. Further, it was
found that while 9 were cleared by first two examiners only, 19 were not cleared by first
two only. If 19 were cleared by all the three examiners, how many cases were cleared by
at least two examiners?

(A) 28 (B) 38 (C) Data inconsistent (D) Data inadequate

Six friends go out for dinner. In how many ways they can sit around a round table to
have dinner?

(A) 60 B)120 (C) 144 (D) 720
If in a language "1’ is written as “1%,*2” as *10° and "3’ as "11°, then "4’ will be written as:
(a) 110 (B) 100 (G111 D) 101

If three coins are tossed simultaneously, in how many ways at least two heads can
occur?

(A)2 (B)3 ©4 D5

Driving uphill a bus driver drives at the speed of 15 km/hr and takes rest for 15 minutes
after an hour of drive. In how much time the driver will cover the distance of 150 kms?
(A) 11 hours and 30 minutes (B) 12 hours and 15 minutes

(C) 12 hours and 30 minutes (D) 13 hours

If in an arithmetic progression, the sum of 3rd and 15th elements is equal to the sum of
6th, 11th and 13th elements in the same series then which element of the progression
should be zero?

(A 1® (B) 9® (Cy 12* (D) None of the above

If January 1 is Saturday, then which month, in a non-leap year, will also have Satarday
on its first date?

(A) April (B) August (C) May (D) October

The present ages of Sukhi and Amrinder are in the ratio of 5 : 4 respectively. After three

years, the ratio of their ages will become 11 : 9 respectively. What is the present age of
Amrinder?

(A) 24 (B) 27 (C) 40 (D) Cannot be determined

The average age of employees working in an office is 30 years. If next year, ten workers
retire, then to compute the average age in the next year, which of the following two
statements is/are must?.

I. Retirement age is 60 years.

II.There are 50 employees in the department.

(A) I alone sufficient (B) I alone sufficient

(C) Both I & II are not sufficient to answer {D) Both I & II are necessary to answer

In an office there are 39 persons who can complete a job in 12 days, working 5 hours a
day. In how many days will 30 persons, working 6 hours a day, complete the job?

(A) 10 (B) 13 (C) 14 (D) 15
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Q.99.

Q.100.

Q.101
Q.102

Q.103

Q.104

Q.105

Q.106

Q.107

Q.108

Q.109

Q.110

In what ratio must a shopkeeper mix two varieties of potatoes costing Rs.15 and Rs.20
per kg respectively so that he could sell the same at Rs.16.50 kg?

A)3:7 BY5:7 (C)7:3 ™7:5

A train and a car start from a point X. The train can travel 50% faster than the car.
Both reach a point Y 75 kms away from X at the same time. If on the way, the train
stops for about 12.5 minutes at the stations, then what is the speed of the car?

(A) 100 kmph (B) 110 kmph (C) 120 kmph (D) 130 kmph
If we want to select all text in Microsoft word, we will use shortcut key:
{A)CTRL + S (B)CTRL +C (C)CTRL+ A (DYCTRL +V

Selecting text means, selecting
(A) A word (B) A complete line  (C) An entire sentence (D) Any of the above

The header and footer can be added by choosing header and footer option from
Menu.
(A) File (B) Insert (C) Page Layout (D) View

You can edit an embedded organization chart object by

(A) Clicking edit object

(B) Double clicking the organization chart object

(C) Right clicking the chart object, then clicking edit MS-Organization Chart object
(D) B and C both

‘Which of the following is not a way to cut text?

{A) Select the text and press the delete button

(B} Select the text and select Edit, Cut from the menu

{C) Select the text and click the Cut button on the toolbar

(D) Select the text and press Ctrl + X

The slide that is used to introduce a topic and set the tone for the presentation is called
the

(A) Table slide (B) Graph slide (C) Bullet slide (D) Title slide
The advantage of using a spreadsheet is:

{A) Calculations can be done automatically

(B) Changing data automatically updates calculations

(C) More flexibility

(D} All of the above

Which of these will select all the cells in a2 document?

(A) Clicking three times with the right mouse button in the spreadsheet

(B) Using the Edit —copy button

(C) Pressing Ctrl + A on the keyboard

(D) Pressing Ctrl + S on the keyboard

This type of software contains rows and columns.

(A) Drawing  (B) Spreadsheet {C) Database (D} Word processing
How are data organized in a spreadsheet?

(A) Lines and spaces (B) Layers and planes

(C) Rows and columns (D) Height and width

Q.111. Very high microbial cell densities can be obtained in a fermenter by

A. Variable volume fed batch culturing B. Fixed volume fed batch culturing
C. Continuous culturing D. Batch culturing

Q.112. Bacitracin in industry is produced from

A. Streptomyces griseus B. Streptomyces rimosus
C. Bacillus licheniformis D. Bacillus polymyxa

(Q113. Which is the first recombinant vaccine in the market

A. Influenza B. Polio C. Hepatitis B D. Measles
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Q114. Monocot plants are transformed with DNA by genetic engineering using
A. Agrobacterium tumefaciens Ti plasmid B. Vaccinia virus vector
C. Biolistic gene gun method D. Eletroporation

Q115. In Flvr Savr tomato plants which gene is silenced

A, Cellulase B. Polygalacuronase C. Lipase D. nif
Q116. Lactose is transported across the cell membrane of E. coli by

A. Facilitated diffusion B. Group translocation

C. Proton symport D. Periplasmic binding proteins
Q117. Tryptophan production in bacteria is regulated by

A. Attenuation B. Catabolite repression

C. Feedback inhibition D. Induction
Q118. Which of the following is not a probiotic

A. Lactobacillus casel B. Saccharomyces cerevisiae

C. Bifidobacterium D. Acinetobacter baumonnii

119. E. coli DNA Polymerase III replicates ColEl plasmid DNA
A Unidirectionally at the rate of 50 kb per min
B. Bidirectionally at the rate of 50 kb per min
C. Unidirectionally at the rate of 40 bp per second
D. Bidirectionally at the rate of 40 bp per second

120. Agar is a polymer of
A. L-galactose B. D-galactose C. Galacturonic acid ~ D. Alginic acid

121. A bacterial population growing exponentizlly at a specific growth rate of 1.25 / h will have
a generation time of

A.0.55h B.0.65h C.085h D.1.55h

122. Which of the following precursor metabolites is produced only in HMP shunt pathway
A. Erythrose-4-phosphate B. glyceraldehydes-3-phosphate
C. alpha- ketogluarate D. acetyl CoA

123. Antibiotic that does not inhibit cell wall synthesis is
A. cycloserine B. vancomycin C. Nalidixic acid D. ristocetin

124. The phylogenetic classification of bacteria is based on
A. fatty acid analysis B. DNA-DNA hybridization
C. 168 rDNA sequence analysis D. G+C % content of DNA
125. Which of the following is z case of bioremediation
A. use of pesticide degrading bacteria in the agriculture fields
B. use of nitrogen fixing bacteria in fields to convert ammonia to nitrogen
C. use of bacteria in the sewage treatment and disposal
D. use of disinfectants in the removal of microbial load

126. In a variable volume fed batch culturing, with time
A. Both dilution rate and growth rate will increase
B. Both dilution rate and growth rate will decrease
C. Substrate concentration will increase but biomass concentration will decrease
D. Biomass concentration will increase but substrate concentration will decrease

127. Which of the following microbes has Entner Duodoroff pathway to metabolize  glucose
A. Pseudomonas syringae B. B. subtilis

C. Thermus agquaticus D. 8. ryphimurium

128. HindIHI is a restriction enzyme belonging to the Type
Al B. I C. 11 D.IV
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129. Psychrophilic bacteria have more of the following in their cell membrane

A. unsaturated fatty acids B. saturated fatty acids

C. sterols D. glycerides
130. A polypeptide of 77 kDa will be coded by a gene of the size

A.0.21kb B.2.1kb C.55%kb D.1.5kb
131. pBR322 contains the origin of replication taken from

A. ColElI B. pSC101 C.R1 D. pMB1
132. Commercially cultured mushroom shiitake is

A. Agaricus bisporus B. Lentinula edodes

C. Ganoderma luciderm D. Trametes versicolor

133. Which of the following is a NOT a class II food preservative in market
A. Bezoic acid B. Na-Sorbate C. Na-Sulfite D. Acetic acid

134. Which of the following viruses is NOT transmitted from animals to humans
A. Rabies B. Hanta C. Lassa Fever D. H5N1

135. Vaccination protects us from infectious disease by generating memory
A. antigen. B. lymphocytes. C. macrophages. D. PMNs.

136. Widal test is a serological test to detect
A. Specific agglutinins against O-Ag of Samonella typhi
B. Specific precipitins against H-Ag of Samonella typhi
C. Specific agglutinins against both O-Ag and H-Ag of Samonella typhi
D. Specific precipitins against both O-Ag and H-Ag of Samonelia typhi

137. What can be used effectively for skin disinfection:
A. glutaraldehyde B. chlorhexidine
C. ethylene oxide D. chloramphenicol drops

138. Which is not a member of the family Enterobacteriaceae
A. Citrobacter B. Edwardsiella C. Providencia D. Pseudomonas

139. Which are not common flora of skin
A. Staphylococcus B. Mycobacteria C. Corynebacteria D. Bacteroides

140. The first bacterium whose genome was sequenced was
A. E.coli B. H. influenzae
C. Mycoplasma genitalium D. Methanococcus janaschii

141. Prokaryotes that have cell walls without peptidoglycan fall in the division
A. Gracilicutes B. Firmicutes C. Tenericutes D. Mendosicutes

142. HTST pasteurization in industry is done at
A.71.6 C/ 15 sec B.71.6 C/30 min C.629C/15sec D. 62.9 C/ 30 min

143. Vodka is made by the fermentation of
A. Barley B. Molasses C. Potatoes D. Fruit Juice

144. Riboflavin is produced in industry by
A. Ashbya gossypii B. Propianobacterium shermanii
C. Zymomonas mobilis D. Lactobacillus plantarum

145. The key enzyme in Calvin-Benson cycle in photoautotrophic bacteria is

A. Transaldolase B. Transketolase
C. Ribulose diphosphate carboxylase  D. Phosphoglycerate mutase
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146. Bioaugmentation for degradation of pollutznts/xenobiotics in soils is
A. adding useful microbe(s) in soil B. adding useful nutrients in soil
C. using natural soil flora D. adding trace elements in soil

147. For the detection of coliforms in potable water, the confirmed test employs

A.MacConkey agar  B. Lactose broth C.EMB agar D. Sabourod’s agar
148. Which of the following is a non-legume symbiotic nitrogen fixing microbe

A. Anabaena B. Azorhizobium C. Azotobacter D. Bradyrhizobium
149. Nitrogenase in Rhizobium is

A. Iron protein B. Iron and Cobalt protein

C. Iron and Molybdenum protein D. None of these

150. Production of High Fructose Syrup from corn in industry uses amylase, glucoamylase and
A Invertase  B. Glucose oxidase C. Glucose isomerase D. Isoamylase
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Key (Code: 3.4)
Post: Microbiologist

Q. No. Ans. Q. No. Ans. Q. No. Ans. Q. No. Ans. Q. No. Ans.
1 B 31 C 61 B 91 B 121 A
2 D 32 B 62 A 92 C 122 A
3 A 33 A 63 B 93 B 123 C
4 C 34 D 64 C 94 C 124 C
5 D 35 B 65 A 95 D 125 A
6 B 36 B 66 B 96 A 126 B
7 A 37 B 67 A 97 D 127 A
8 C 38 D 68 B 98 B 128 B
9 D 39 C 69 AC 99 C 129 A
10 B 40 B 70 B 100 C 130 B
11 D 41 A 71 A 101 C 131 D
12 C 42 B 72 D 102 D 132 B
13 B 43 B 73 A 103 B 133 D
14 C 44 B 74 B 104 D 134 D
15 C 45 B 75 D 105 A 135 B
16 D 46 C 76 D 106 D 136 C
17 D 47 C 77 C 107 D 137 B
18 D 48 B 78 B 108 C 138 D
19 D 49 C 79 A 109 B 139 D
20 D 50 A 80 A 110 C 140 B
21 A ol B 81 D 111 B 141 D
22 B 52 B 82 B 112 C 142 A
23 D 53 C 83 D 113 C 143 C
24 D 94 C 84 B 114 C 144 A
25 A 95 A 85 C 115 B 145 C
26 B 56 B 86 A 116 C 146 A
27 C o7 A 87 A 117 A 147 C
28 D 58 A 88 B 118 D 148 A
29 B 59 D 89 B 119 A 149 C
30 A 60 C 90 B 120 A 150 C
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